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Christmas Addition

Solve the following word problems.

Santa has 7 presents in his sack. He adds 8 more.
How many presents does Santa have now?

There are 6 candy canes on the Christmas free.
Mom adds 5 more. How many candy canes are
there on the Christmas tree now?

There are 12 Christmas cards on the table. Dad
adds 3 more. How many cards are there on the
table now?

There are 8 reindeers. Santa adds 2 more. How
many reindeers does Santa have now?

Mary baked 10 gingerbread cookies. She baked 7
more cookies later. How many gingerbread
cookies did Mary bake in total?

There are 5 stockings hanging on the fireplace.
Mom adds 7 more. How many stockings are there
hanging on the fireplace now?

Santa gave 6 gifts to Tim and 9 gifts fo Tom. How
many gifts did Santa give in total?

There are 7 ornaments on the Christmas tree.
Grandpa adds 5 more. How many ornaments are
there on the Christmas tree now?

9 There are 4 presents under the Christmas tree.
Santa adds 10 more. How many presents are there

‘nder the Christmas tree now?
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